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Answers

1. 432

2. 6,141

3. 609

4. 1,775

5. 768

6. 3,468

7. 7,200

8. 1,728

9. 3,510

10. 1,392

11. 1,740

12. 1,482

Use lattice multiplication to solve each problem.

1)
16 × 27 =

1 6

2

7

0 1

0 4

3 2

2 2

7

0

4 2

2)
69 × 89 =

6 9

8

9

4 7

5 8

4 1

8 2

4

6

1 1

3)
21 × 29 =

2 1

2

9

0 0

1 0

0 9

4 2

8

0

6 9

4)
71 × 25 =

7 1

2

5

1 0

3 0

7 5

4 2

5

1

7 5

5)
12 × 64 =

1 2

6

4

0 1

0 0

6 8

6 2

4

0

7 8

6)
51 × 68 =

5 1

6

8

3 0

4 0

6 8

0 6

0

3

4 8

7)
90 × 80 =

9 0

8

0

7 0

0 0

0 0

2 0

0

7

2 0

8)
27 × 64 =

2 7

6

4

1 4

0 2

2 8

2 2

8

1

7 8

9)
39 × 90 =

3 9

9

0

2 8

0 0

1 0

7 1

0

3

5 0

10)
87 × 16 =

8 7

1

6

0 0

4 4

9 2

8 7

8

1

3 2

11)
60 × 29 =

6 0

2

9

1 0

5 0

4 0

2 0

4

1

7 0

12)
78 × 19 =

7 8

1

9

0 0

6 7

8 2

7 8

3

1

4 2



Name: Answer KeyLattice 2 by 2

Math www.CommonCoreSheets.com

Answers

1. 432

2. 6,141

3. 609

4. 1,775

5. 768

6. 3,468

7. 7,200

8. 1,728

9. 3,510

10. 1,392

11. 1,740

12. 1,482

Use lattice multiplication to solve each problem.

1)
16 × 27 =

1 6

2

7

0 1

0 4

3 2

2 2

7

0

4 2

2)
69 × 89 =

6 9

8

9

4 7

5 8

4 1

8 2

4

6

1 1

3)
21 × 29 =

2 1

2

9

0 0

1 0

0 9

4 2

8

0

6 9

4)
71 × 25 =

7 1

2

5

1 0

3 0

7 5

4 2

5

1

7 5

5)
12 × 64 =

1 2

6

4

0 1

0 0

6 8

6 2

4

0

7 8

6)
51 × 68 =

5 1

6

8

3 0

4 0

6 8

0 6

0

3

4 8

7)
90 × 80 =

9 0

8

0

7 0

0 0

0 0

2 0

0

7

2 0

8)
27 × 64 =

2 7

6

4

1 4

0 2

2 8

2 2

8

1

7 8

9)
39 × 90 =

3 9

9

0

2 8

0 0

1 0

7 1

0

3

5 0

10)
87 × 16 =

8 7

1

6

0 0

4 4

9 2

8 7

8

1

3 2

11)
60 × 29 =

6 0

2

9

1 0

5 0

4 0

2 0

4

1

7 0

12)
78 × 19 =

7 8

1

9

0 0

6 7

8 2

7 8

3

1

4 2

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0


	Worksheet
	Answer Key

